
MCQs:


1. Which of the following statement/s is/are true?


1 In India there is only one citizenship and one domicile.


2. A citizen by birth only can become the Head of State in India.


(a) 1 only


(b) 2 only


(c) Both 1 and 2


(d) Neither 1 nor 2


Ans: a


Explanation:

• In India, we have single citizenship, i.e., a person can have only one citizenship. Also, at a 

particular time, a person can have only one domicile.

• Any citizen (Citizen by birth or Naturalised Citizen) can become the Head of State, i.e., 

the President, in India.


2. MARPOL convention is associated with?


(a) World Bank


(b) International Maritime Organisation


(c) World Economic Forum


(d) United Nations Environment Program


Ans: b


Explanation: 

• The International Convention for the Prevention of Pollution from Ships (MARPOL) is the 

main international convention covering prevention of pollution of the marine 
environment by ships from operational or accidental causes. The MARPOL Convention 
was adopted on 2 November 1973 at IMO.




3. Which ministry is the nodal agency to ensure effective implementation of the Scheduled 
Tribes and Other Traditional Forest Dwellers (Recognition of Forest Rights) Act, 2006?


(a) Ministry of Environment, Forest and Climate Change 


(b) Ministry of Panchayati Raj 


(c) Ministry of Rural Development


(d) Ministry of Tribal Affairs


Ans: d


Explanation:


• Ministry of tribal affairs is the nodal agency at the national level to ensure effective 
implementation of the Scheduled Tribes and Other Traditional Forest Dwellers 
(Recognition of Forest Rights) Act, 2006.


4. Which of the following statement/s are true? 


1. Out of 705 Scheduled Tribes, PVTG spread over 17 states and one Union Territory (UT).


2. 75 PTVGs have been identified in India.


(a) 1 only


(b) 2 only


(c) Both 1 and 2


(d) Neither 1 nor 2


Ans: c


Explanation:  


Government of India follows the following criteria for identifiaction of PVTGs. 

• Pre-agricultural level of technology

• Low level of literacy

• Economic backwardness

• A declining or stagnant population.

• Accordingly 75 PTVGs have been identified in the country. 




• Out of 705 Scheduled Tribes, PVTG sspread over 17 states and one Union Territory (UT), 
in the country (2011 census).


5. Under the Indian Constitution, concentration of wealth violates


(a) the Right to Equality


(b) the Directive Principles of State Policy


(c) the Right to Freedom


(d) the Concept of Welfare


Ans: b


Explanation:


• Directive Principles of State Policy of the constitution, Article 39(c) says that, "the 
operation of the economic system does not result in the concentration of wealth and 
means of production to the common detriment."



